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  , 2020 

 3¼ 
 80

     

GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1)    -      

Candidates must write first his / her Roll No. on the question paper 

compulsorily.

  (2)       

All the questions are compulsory.

  (3)       -    

Write the answer to each question in the given answer-book only.
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  (4)      ,          

For questions having more than one part, the answers to those parts are to 

be written together in continuity.

(5) -          //   

         

If there is any error / difference / contradiction in Hindi & English 

versions of the question paper, the question of Hindi version should be 

treated valid. 

(6)       

  1-11 1 

  12-21 3 

  22-27 4 

  28-30 5 

Section Q. Nos. Marks per 

question 

A 1-11 1 

B 12-21 3 

C 

D 

22-27 

28-30 

4 

5 

   
 

  (7)   27  30      

 There are internal choices in Q. No. 27 to 30. 
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 –  

SECTION – A 

 

1.             ? 1

Which teeth are used in nibbling and cutting food ?  

 

2.            ? 1

Which antibody is found in mother’s milk ?  

 

3.           1

Write the names of two Crystalline allotropes of carbon.  

 

4.          1

Write the two forms of dissipation of energy.  

 

5.           1

Write any two main components of social forestry.  

 

6.            ? 1

Turmeric is obtained from which part of plant ?  

 

7.       ? 1

What are endemic species ?   
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8.    (C)          ? 1

Which disease is caused by deficiency of ascorbic acid (C) ?  

 

9.            ? 1

Which scientist classified the blood ?  

 

10.        ? 1

Which blood group is universal donor ?   

 

11.                   
       1

Draw a labelled figure of any law used to find the direction of the produced 

magnetic field during current flow in a conductor. 

 

 –  

SECTION – B 

 

12.       ?              
    1 + 2 = 3

What is tectonic force ? Describe any one internal tectonic force in brief.  

 

13.             ?       
          1 + 2 = 3

Which book is written by Charles Darwin on evolution of species ? Prove with 

evidence that all living beings may have been originated from the same 

ancestors.     
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14.  ....              
-     1 + 2 = 3

Write full name of P.S.L.V.  Mention any two problems and their solutions 

which an astronaut face.  

 

15.  ()           ? 

 ()                 
 ?   1 + 2 = 3

(a) Which type of injury may be caused in road accident ? 

 (b) Which type of help can be given by you for saving life of a road accident 

victim ?   

 

16.  ()        

 ()              ? 

 ()             1 + 1 + 1 = 3

(a) Write down the symptoms of sub-mucous fibrosis disease. 

 (b) Which component of cold drinks effect teeth ?  

 (c) Name a worm that found in contaminated water.  

 

17.  ()      -     
  

 () -            2 + 1 = 3

(a) Explain oxidation-reduction reaction with example on the basis of 

electronic concept. 

 (b) Give any one example of chemical reaction occurring by bio-catalyst.   
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18.          ?            

      1 + 2 = 3

What are the principles of water conservation and management ? Write any 

four measures of water conservation and management.   

 

19.           ?        
    1 + 2 = 3

Who is known as father of Indian Nuclear Science ? Mention his contribution 

in the field of cosmic rays.   

  

20.  ()    IUPAC   

  (1) CH3 – CH
|

Cl

 – CH
|

Br

 – CH3   

  (2) HC  C – CH3    

()      -    2 + 1 = 3

(a) Write IUPAC names of the following compounds : 

  (1) CH3 – CH
|

Cl

 – CH
|

Br

 – CH3   

  (2) HC  C – CH3    

(b) Write one example of each alicyclic and aromatic hydrocarbon.  

 

21.  -    ?         
      ?     -     
    1 + 1 + 1 = 3

What is non-biodegradable waste ? Which disease is caused by Bisphenol 

chemical used in plastic products ? Explain disposal of non-biodegradable 

waste by land fill method.   
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 –  

SECTION – C 

 

22.  () -      ? 

 ()         ? 

 ()                ? 

 ()                ?  

      1 + 1 + 1 + 1 = 4

(a) Pearl-Oyster belongs to which phylum ? 

 (b) Which is the best pearl quality ? 

 (c) The less valuable pearl obtained from sepia are found in which type of 

water ? 

 (d) Which disease is cured by the use of Carminic acid obtained from 

Cochineal insect ?  

 

23.            2 + 2 = 4

Explain Mendel’s law of segregation with example.   

 

24.  ()                  

 ()            ? 

 () Zn   H2SO4        1 + 1 + 2 = 4 

(a) Write the name and formula of compound, used for plastering cracked 

bones. 

 (b) Why burning sensation is felt on skin on the bite of honey bee ?  

 (c) Draw labelled diagram of reaction of Zn metal with H2SO4.  
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25.  ()    R1, R2  R3      V       
         

 () 6      30               
1                  2 + 2 = 4

(a) Three resistances of R1, R2 and R3 are connected in series combination in 

an electric circuit with a battery of V volt. Find the equivalent resistance 

of the circuit. 

 (b) A 6 volt storage cell is connected to a nichrome resistance coil of 30 ohm 

so that current flows for one hour. Calculate the heat generated in 

resistance coil.  

 

26.  ()     F    S           
  ,             

 ()    ()        2 + 2 = 4

(a) When a force F is applied to an object it is displaced by distance S. If force 

is working perpendicular to displacement, then prove that the work done by 

the force is zero. 

 (b) Determine the number of joules in one kilowatt hour (unit).  

 

27.            -  
    ?   4 

 

 -        ,    
    2 + 2 = 4 

How is biodiversity affected by over-exploitation of natural resources and 

superstition and ignorance ? Explain. 

OR 

Explain economic value and social, cultural and spiritual value under 

importance of biodiversity.  
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 –  

SECTION – D 

 

28.  ()  ‘   ’     

 ()                

 ()          1 + 2 + 2 = 5 

 

 ()  ‘   ’     

 ()                

 ()          1 + 2 + 2 = 5 

 (a) Write the name of main ‘human male sex hormone’. 

 (b) Describe structure of any two secondary reproductive organs of male 

reproductive system. 

 (c) Draw a labelled diagram of human male reproductive system.  

OR 

(a) Write the name of main ‘human female sex hormone’. 

 (b) Describe structure of any two secondary reproductive organs of female 

reproductive system. 

 (c) Draw a labelled diagram of human female reproductive system.  

 

29.  ()        ? 

 ()           ?    

 ()             :

    Rb, Cs, Li, Na, K 1 + 2 + 2 = 5 

 
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 ()        ? 

 ()           

 ()              

   Na, Cs, Li, Rb, K 1 + 2 + 2 = 5 

(a) What do you understand by oxidation state ? 

 (b) In how many blocks the perioclic table is classified ? Write names. 

 (c) Arrange the following elements in the increasing order of atomic size : 

    Rb, Cs, Li, Na, K  

OR 

 (a) What do you understand by variable valency ? 

 (b) Explain the positon of metalloids in modern periodic table. 

 (c) Arrange the following elements in the decreasing order of ionization 

enthalpy : 

   Na, Cs, Li, Rb, K  

  

30.        ?           
                ; 
        1 + 2 + 2 = 5 

 

             ?      ?   
    ?            1 + 2 + 2 = 5
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What do you mean by refraction ? Explain the refraction of light rays with the 

help of a glass slab. An object is placed between infinity and centre of 

curvature in front of a concave mirror; draw a ray diagram for image  

formation.    

OR 

 What do you understand by near point and far point of the eye ? What is 

hypermetropia or long sightedness ? How this defect is corrected ? Draw a 

labelled ray diagram of correction for hypermetropic eye. 

____________ 
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